KYIIPIAKH MAOHMATIKH ETAIPEIA

8" KYIIPIAKH MAOHMATIKH OAYMIITAAA

Ampihog 2007 XPONOX: 60 AEIITA

AOKIMIO TTA A", B’, I'" I'vpvaciov

2 1
Aoxknon 1. I+—+——=
e 100 1000
A: 1,21 B: 0,121 I 1,021 A: 1,0201 E: 0,021
Aoxknon 2. O péooc 6pog mévte aplBumv eivar 18. Or téooepig and

avtovg givor ot apBuoi 23, 19, 10, 17. O méumtog siva:

A: 8 B: 21 I 54 A: 70 E: 17
Aoknon 3. ITowov apBpov to 0,001% eivar 10 70;
A7 B: 700 I': 7000 A: 70 000 E: 7000 000
, . . 9
Aocxknon 4. [Tow eivar M teTpayoviky pia tov 1— ;
A 1é B: é I % A 11,2502 E: 13
Aoknon 5. To d&Bpowopo 9 ddoykdv BeTik®V aképaiwv aplOpdv

glvar  2007. TTow eivor M dwpopd TOL HKPOTEPOL QMO TO

UEYOADTEPO;
A: 8 B: 9 I': 10 A: 18 E: 223
Aoknon 6. Ot apBuot 72, 8, 24, 10, 5, 45, 36, 15 ypdooviot oe

Cevybpro €101 dote T0 Yvopevo KaOe Cevyaplod va ivat to 1010.
[Totog ap1Bpog Cevyapdvetar pe tov opOud 10;

A: 36 B: 45 I': 24 A: 15 E: 72

Aoxknon 7. H o&ela yovia peta&d tv deKTdV ToL poAoytod 1 dpa 09:35
elvau:

A: 60° B: 65.5° I: 70° A 77.5° E: 82.5°
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Aoknon 8. Av a, b, ¢ eivon Betikol apBuoi étor wote 3a = 4b = Sc,
kot a-+b=kc, mow etvou n Tiun tov k ;

12 B: é I: E A: Z E: ﬁ

35 T 7 7 5 12

Aoxknon 9. Iloiwo and ta mo kdtm abpoicuata icovtor pe to 2003;

A 16%+26% +32?
B: 167 +26°+33°
r: 15%+277+32°
A: 1774252 +332
E: 177 +24° + 347

Aoxknon 10. 'Evog Oeticodg apBudc Aéyetor avéwv av kabe ynoio tov givar
UEYOAVTEPO TOV TPOTYOVUEVOL TOV (). 2479). O apBuodg tev
avEOvTev apiudv petagd tov 4000 kot 5000 sivou:

A: 8 B: 7 I': 10 A 11 E: 9

Aoxknon 11. To mAn0og tov dtymviov evog dekaydvou givat:

A: 35 B: 40 I': 45 A: 50 E: 70

Aoxknon 12. O pkpdtepog amd Toug aptBpovg sivat:

A 2® B: 3" r. 59 A: 30% E: 4%

Aoxknon 13.  H tun tov ywvopévou
1 1 1 1

l+— || 1+=||1+= || 1 +—| . .
3 4 5 59 eva:

A — B: 20 I': 60 A: 59 E: 118

Aoxknon 14.  Ilocot tpwymorot aptBpoi vTdpyovy TOL TO YIVOUEVO TMV
ynoeiov toug va givor 42;

A: Kavévag B: 12 I: 4 A: 6 E: 21

Aoknon 15. To mnbog tov Betikdv axepaimv mov etvar pkpotepot Tov 200
Ko Ogv dtopovvtal ovte Pe To 3 ovte pe 0 S glva:

A: 86 B: 102 I': 107 A: 119 E: 121
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A", B’,T' TYMNAZIOY

Aoknon 16.

A: Aptiog

A:  moAMGlo Tov 5 E:

B: Tleprrtog

Timote omtd ovTd

O v (v+3), o6mov v puoikdg apBuds, eivor mhvtote:

TOAM/G10 TOL 3

Aoxknon 17. Av o A eivar 25 km avarohkd tov B, o omoiog eivar 12 km
voti tov I, o omoiog eivar 9 km odvtikd tov A, modom givorm
andotaon oe km, tov A amd oV A;

I SM

A: 20 B: 534

A: 10413 E: 71

Aoxknon 18. Av 10 dOpocpa 6A®V TV OeTik®V ApTIOV HKPOTEP®Y TOV

1000 esivon

TEPUTTOV UIKpOTEP®V TOL 1000 .

A, moco eivor to dOpotopa OAwV TV BETIKOV

A: A-998 B: A-499 I: A+l A: A+500 E: §+999
Aoknon 19. Av 2x+3y _7 rote —  100UTAl JE:
3x-y 3
A: 2 B: 2 15 16 E: 42
9 3 16 15 9

Aoxknon 20. Ztov mo KAt Tivake TOcH TETPAYMmVO VITAPYOVY OTOIOVONTOTE
pey€fovug €161 dote To ABpotoua TOV apldumyv mov gival ¢ avTtd va
dtvouv Gptio amoTéAEG L.

1 2 3 4 |5
6 7 8 9 10
11 |12 |13 |14 |15
16 |17 |18 |19 |20
21 |22 |23 |24 |25
A: 12 B: 20 I': 32 A

1 36 E: 45
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Aoxnon 21.

To ABI'A sivou tetpdywvo. BE=AA.
Tote 1 yovia AET 1covtat ue:

A: 105° B: 120° TI: 135°

A: 67,5 E: 112,5°

Aoknon 22.

To ABI' &ival 1cookelég Tpiymvo pe
AB=Al'=5«ko BI'=6. Av BA=1 16t AA
1600TOL E:

A: 3 B: 4 T \/E A:

J20  E: 415

Aoxknon 23. Tpeig epydrec cuupmvnoay vo ektehésouvv oy epyocio O mpdToC
umopel vo, TEAEIMSEL LOVOG TOV TNV €PYacio 6 8 MPES, 0 dELTEPOG
oe 12 dpeg kol o tpitog oe 24 dpec. Le MOCEG MPEG KOl Ol TPELG

pali Ba tedeid@ooLY TV Epyacia;

A: 2 B: 4 I:6 A: 9 E: 44

2008
2

Aoknon 24. To ynmoeio T@v povédwv Tov aplfpuon -1 &ivau

Al B: 3 I: 4 A: 9 E: 5

Aoknon 25. O minBuopog pog pikpng moAng mapovotdletl peimon 20% xdbe
wévte ypovia.  Av onuepa o mAnbooudg g moAng eivar 5000
dropa, mdécog Ba etvar 0 TANBLouog Hotepa and 20 ypodvia;

A: 1000 B: 1840 I': 2048 A: 2400 E: 2908
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75
Aoknon 26. To dOBpoiopa tov yneiov tov apBuov 10”7 =75 &von:

A: 8 B: 664 I:673 A: 655 E: 675

Aoknon 27. 1I6c0ovg SapopeTikods TEVIOYNELOVG aplOpovg Hmopovue va
KOTOOKELAGOLUE Le To ynoto 9, 7, 5, 3, 1 av o€ kaOe apBuod 1o
Ka0e ymoio ypnoomoteitan povo o popd;

A: 24 B: 48 I': 60 A: 100 E: 120

Aoknon 28. Xe pa taén 40 pobntov, 13 €yovv  01KN TOLS THAEOPOOT Kot
18 éyouvv 10 OO TOLG VLWOAOYOTH. Av 16 dev €rovv ov1te
TAEOpacT 00TE VIOAOYIGTH, TOCOL HOONTEG EYOLV Kol THAEOPAOT
KOl VTOAOYIOTN;

A: 0 B: 3 I:6 A 7 E: 11

Aoknon 29. O Apng petaxveitor pe to TOdNANTO T0L amd TV TOAN A otV
oA B pe otabep tayvmta. Av avénoel m taxhTTo TOL KOTA
3 m/s Ba @Bdoel oty mOAN B tpeig popég ypnyopotepa. [looceg
@opég mo ypnyopa Ba eBdcel oty oA B av avénoet ) toyvnTa
TOV KaTd 6 m/s ;

A: 4 B: 4,5 I:6 A S E: 8

Aoknoen 30. Opboyovio ABCD (BAéne oynuo) amoteleitor amd 24 pikpd
tetpdyova mAevpdg 1 povadag. Ilowo eivor 1o guPaddv Tov

Tpry®vov ALM;
M
D C
L
|1
A L1 B

A: 5 B: 6 r: 7 A 8 E: tinote omd avtd
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1 2 b
100 1000
A: 1,21 B: 0,121 I 1,021 A: 1,0201 E: 0,021
2. The average (arithmetic mean) of five numbers is 18. Four of them are
the numbers 23, 19, 10, 17. The fifth number is:

A: 8 B: 21 I: 54 A: 70 E: 17

3. The 0,001% of which number is 707?

A7 B: 700 [ 7000 A: 70 000 E: 7 000 000

4. The square root of IE is:

A 1E B 3 I: % A: 1,2502 E: 1,3

The sum of 9 consecutive positive whole numbers is 2007. What is the
difference between the largest and smallest of these numbers?

E: 223

5.
A: 8 B: 9 I 10 A: 18
6. The numbers 72, 8, 24, 10, 5, 45, 36, 15 are grouped in pairs so that the
product of each pair is the same. Which number is paired with 10?

A: 36 B: 45 I': 24 A: 15 E: 72

At time 09.35 the acute angle between the hands of a watch is:

7.

A: 77.5° E: 82.5°

A: 60° B: 65.5° I': 70°
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8. Ifa, b, c are positive numbers such that 3a = 4b =5c, and if
a +b =kc, what is the value of k ?

2 B: 2 I E A: : 35
35 7 7 5 12

| <

9. Which of the following sums is equal to 2003?

A 16%+26%+ 322

B: 16> +26°+33°
r:  15%+27°+32?
A: 1774252 +332
E: 177 +24° +34°

10. One positive number is growing if any digit is greater than the previous digit
(ex. 2479). How many growing numbers are there between 4000 and 5000 ?

A: 8 B: 7 I: 10 A 11 E: 9

11. How many diagonals does any 10-sided polygon has?

A: 35 B: 40 I': 45 A: 50 E: 70

12.  Which of the following numbers is the smallest?

N B: 3" r: 5'% A: 30 E: 4%
13.
1 1 1 1
l+=|{1+=||1+= |- |1 +—|=
3 4 5 59
A: % B: 20 I 60 A: 59 E: 118

14. How many 3-digit numbers are there for which the product of their
digits is 42.

A: None B: 12 I': 4 A: 6 E: 21

15. The number of all the positive integers less than 200 , not divisible by 3 and
not divisible by 5 is:

A: 86 B: 102 I': 107 A: 119 E: 121
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16. The n (n+ 3), n natural number, is always :

A: Even B: Odd I':  multiple by 3
A:  multiple by 5 E: prime

17. If A is 25 kilometers east of B, which is 12 kilometers south of C,
which is 9 kilometers west of D, how far, in kilometres, is A from D

A: 20 B: 534 I: 541 A: 10413 E: 71

18. If'the sum of all the positive even integers less than 1000 is A, what is the
sum of all the positive odd integers less than 1000

A: A-998 B: A-499 I': A+1 A: A+ 500 E: §+999

2x+3y:Z then X is equal to:
3x-y 3 y

19. If

E A: E : 42
16 15 9

20. In the diagram below, how many squares, of any size, are there whose
entries add up to an even total?

11 |12 |13 |14 |15

16 |17 |18 |19 |20

21 |22 |23 |24 |25

A 12 B: 20 I: 32 A: 36 E: 45
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21.
A B
ABCD is a square and BE = AD. Then the
angle DEC is equal to:
A: 105° B: 120° C: 135°
E
D: 67,5 E: 112,5°
D C
22.
A ABC is an isosceles triangle with
AB=AC=5and BC=6. If BD=1 then
AD is equal to:
A: 3 B: 4 c: 10
D: \/E E: \/E
B D &

23. Three workers agreed to complete together a job. The first worker can complete
the job alone in 8 hours, the second worker in 12 hours and the third worker in

24 hours. In how many hours can the three workers complete the job together?

A: 2 B: 4 I: 6 A: 9 E: 44

2008
24. The last digit of the number 2 -1 is:

Al B: 3 I: 4 A: 9 E: 5

25. The population of a small town decreases by 20% every five years.
If the population of the town is today 5000 persons, what will be its
population after 20 years?

A: 1000 B: 1840 I': 2048 A: 2400 E: 2908
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26. The sum of the digits of the number 10" - 75 is

A: 8 B: 664 I:673 A: 655 E: 675

27. How many different 5-digit numbers can be written using each of the
numerals 9, 7, 5, 3, 1 only once each time?

A: 24 B: 48 I': 60 A: 100 E: 120

28. Inaclass of 40 students, 13 have their own TV’s and 18 have their
own computers. If 16 have neither a TV nor a computer, how many students
have both?

29. Peter rides a bicycle from town A to town B with constant speed.
If he increases his speed by 3 m/s, he will arrive to town B 3 times faster.

How many times faster will Peter arrive to town B, if he increases his
speed by 6 m/s.

A: 4 B: 4,5 I:6 A5 E: 8

30. Rectangle ABCD (see the picture) is built out of 24 little squares with the
length of each side equal to 1. What is the area of triangle ALM?

M
D

m & 0O

A: 5 B: 6 I 7 A 8 E: Other






